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num = int (input ()

count = 0
if num > U
numl = num + 1
HiH if nunl % 277 == 0: O EEE TS il
f numl % 4 == 0:
numl = numl + 1
els
numl = num
prlnt(str(num)+ DHEEZLET’)
Mle num
it num % 2 == 0:
num = nun // 2
count = count + 1
#HH num = num x 3 + 277 OINETET
num = num % 3 + 41
count = count +
print (’ +sir(count)* EEtEL EL%
num = numl
count = 0
cept ValueError: .
print (’---ERROR---FE L WMEZA DL TL S W)
except KeyboardInterrupt:
print
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num = int(input "E8EFEATAAL

count = 0
prlnt(num)
ile
fonum % 2 ==0:
num = num //2
print(num)
count = count + 1
elif num ¥ 2 !'= 0 and num '= 1:
num = num ¥ 3 + 1
print (num)

count = count + 1
else:
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print (str(count)+"BIsTEL £L 727)
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